3 |

COPYRIGHT (©2019
NATITONAL [INSTRUMENTS CORPORATION AND TS LICENSORS. ALL RIGHTS RESERVED.

|

. REFER TO PRODUCT MANUAL ON NI.COM FOR MORE DETAILS

NOTES: UNLESS OTHERWISE SPECIFIED.

2X SHORT OR LONG
FRONT RACK MOUNT
(BOTH SIDES)

4X M3X0.5X8

TORQUE 0.76 N-m [6.7 IN-LB]
MOUNTING HARWARE PROVIDED
WITH FRONT RACK MOUNT KIT
(BOTH SIDES)

cX FILLER PANEL PROVIDED
WITH FRONT RACK MOUNT KIT

OPTIONAL WIRE GROMMET PROVIDED

7

//
&

(BOTH SIDES)
CABLE PASS-THRU HOLE

X MAXO0. 7TX8

TORQUE 1.924& N-m [I7.0& [IN-LB]
MOUNTING HARDWARE PROVIDED
WITH REAR RACK MOUNT KIT

(BOTH SIDES)

SHORT OR LONG
&) REAR RACK MOUNT
(BOTH SIDES)

4X MAXO0. 7TX8

TORQUE 1.92& N-m [I7.0& IN-LB]
MOUNTING HARDWARE PROVIDED

WITH FRONT RACK MOUNT KIT

(BOTH SIDES)

2X M4AX0. 7X8
TORQUE .92+ N-m [I7.0f+ IN-LB]
MOUNTING HARDWARE PROVIDED
WITH REAR RACK MOUNT KIT
(BOTH SIDES)
e
-
-
4X M4X0. 7X8
TORQUE .92+ N-m [I7.04+ IN-LB]
MOUNTING HARDWARE PROVIDED
WITH REAR RACK MOUNT KIT
(BOTH SIDES)
METR[C CUSTOMER DRAWING
UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLIMETERS WNA‘WONAL A
AND [ INCHES] ‘) INSTRUMENTS® AUSTIN, TEXAS
- TITLE
DO NOT SCALE DRAWING
THIRD ANGLE PROJECTION CUSTOMER DRAW‘ NG’
RACK MOUNT KIT,
PXle-1097
@3 [BTFUSYE " 06/ 25/2019
SCALE | /7 SHEET | oF 3

3 |

CU,RﬁCKMOUNT,PX\E*\OSLOT



8 ] ; 5 v 4 3 2

COPYRIGHT (02019
NATITONAL [INSTRUMENTS CORPORATION AND TS LICENSORS. ALL RIGHTS RESERVED.

~—— 8| | [3.]19] —————=— — 38,1 [|.57] (=-—— 406 3 ——m—
[1.82]
5 J N A ,
21.6
/%%\ [.85] (}j
o
| o
/& \ R I ¢
/// W W N N i W W
a O OHOHOTOHOHOHO i
21.6
[.85]
OVAL HANDLE ' |
N C ) beeeeo66
1765 | | | | T
[6.95] 16 8
125.0 [] ﬂ ;2 E% [1.84]
[4.92] 133 4 0 L C € 89 .9
[5.25] | | | | [3.54)
| W W W e i W W
\\J/ \\// 2/ S\ B\ e\ A
\Qi e W N o W N i W W
| OHOH OHOHOHOHOHO
o Ve =2 =
: AR
| v
0 » Sl
A il / ' -
2X @71 [.281 X 10.00 [.394] FRONT RACK MOUNT SHORT — 33.9 [[.33] |—= —— ~— (X [2.7 [.50] 32X COUNTERSUNK THRU HOLE,
FOR M4 SCREW
— 140.3 [5.52] —
J \ -

~

SDO00000 00
SN Y eoo0000
| | |

4 S 6
% S 9

) ©®000006

"y
N
. \__/ \__/ 0000000
| -

O
7
L
\

@

.

/

FRONT RACK MARKINGS REPRESENT
FRONT RACK MOUNT LONG CHASS TS RECESS IN [INCHES
SEE FRONT RACK MOUNT SHORT
FOR ANY MISSING DIMENSTONS

SIZE|CODE IDENT NOJMM/DD/YYYY

D /U296 06/25/2019

SCALE |/ | SHEET 2 OoF 3

2 7 ; 5 s 1 3 2 g




3 |

COPYRIGHT (02019
NATITONAL [NSTRUMENTS CORPORATION AND TS LICENSORS.

ALL RIGHTS RESERVED.

~—— 6 33— 8] () [3 43] ——————m==
[1.82]
$ 3 A A A AN AN A A A $ - i ar sl N
I S/ /A B\ B\ 0\ A\ 85 ~ RS
21.06 [ .49
[.85] S — > I
—loeeeeeoee [ ) L T
| | | |
A C D oy I
46 .8 65.0 15 9
[1.84] v D) d [2.56] [ 3]
899 | | | | o) i
SRR e W WY \ : | I
&4&4&4&4&4&4&4&4\\// \// ' ®
( _ A
NN N (N (N (N (DN (D) 7\4X@4.7[.9] C
\gi)gw&a/&z/&z/sz&y\§4 334
K [5.25]
101.6
[4.00]
32X COUNTERSUNK THRU HOLE,
FOR M4 SCREW X 127 [.50] —==— —— 6.4 [ .25] —m |-
~—— 59 7 [72 35] ——m= J} @
N ‘ L ;
REAR RACK MOUNT SHORT (—) ! =
A '
R
I, NG
— 24720 [9.53]
4X @7.\ [.28) X 10.00 [.394]
/
OO0 00000 3
REAR RACK MOUNT BRACKET
0000000& N/ N N/ N N[
| | | |
A B C D
v g D) d
| | | |
- ooooooo®. JU J\ JL JL J -
\_
REAR RACK MOUNT LONG
SEE REAR RACK MOUNT SHORT
FOR ANY DIMENSIONS NOT SHOWN
A
SI/ZE|CODE IDENT NO[MM/DD/YYYY
D1 /UZ290 00/25/2019
SCALE: | /| SHEET 3 OF 3
z% 22 CU,RﬁCKMOUNT,PX\E*\OSLOT




	Sheet 1
	Views
	new_view_2


	Sheet 2
	Views
	new_view_6
	left_7
	new_view_8
	left_9


	Sheet 3
	Views
	new_view_13
	new_view_14
	new_view_15
	right_16



